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Two Transformer-Experiment

https://www.youtube.com/watch?v=1i3aQ1Wf93c
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https://www.youtube.com/watch?v=1i3aQ1Wf93c


Kapanadze – Process of the electrostatic pump

Quelle:  

http://realstrannik.ru/forum/39-kapanadze/135125-generatory-kapanadze-obshhaya-tema-3.html?
start=3762

https://translate.google.com/translate?hl=de&sl=ru&tl=de&u=http%3A%2F%2Frealstrannik.ru%2Fforum
%2F39-kapanadze%2F135125-generatory-kapanadze-obshhaya-tema-3.html%3Fstart%3D3762
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Comment by Zabrain

The first transformer is standard from the store (shelf), and the second is the same . 
In the second experiment, the first transformer is used as a choke for fluorescent lamps ( rather incandescent ).
Through the 12V winding on the secondary side, the lamp is connected 120 V 40mA. 

Input current per lamp 0,047 A 
The oscilloscope probe measured 44V at the lamp and it is only 2 watts and actually even less. 
The pulse with 2000 V occures on the beginning of the rise of the sine curve.
AND ONLY THEN THE EFFECT IS OBTAINED
The polarity of the HV pulse was such that the output of the negative voltage pulse, (with which the polarity) does 
not matter. 
And the amplitude at the load jumps sharply to 212V. - Prikinte increased power. 
Then it drops to 88V at the load - that's four times the power, and then gradually drops to a nominal 44 volts. 

Well, I have an inverter instead of the first transformer. And the second transformer is any type for the required 
current. 
You can use transformer, coil with a ferrite core, air core coil, the last two resonances are needed.
Now, the most important thing is the phase matching and synchronization of the interrupt BB. 

I edited the picture on filereader and made a document with my translation. 
It was this experience that led me to my goal. But as it turned out, the real finish is still far away.
But until you understand HOW IT WORKS , you will not succeed, not even according to a preconceived plan.
This is not a detector receiver!
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